77N NI'Y 'iap? on pIn

EPISODE IV
BTN 0N

A+B=2C K=5
g
kAlefL}-é ,<:.S_

| /]
A+B K=5
Dj= K =10

AIBAD = (G TE2N
BtD=23C  K=gua-50


Shahar Bialer


Shahar Bialer
Text Box
חוק הס לקבועי שיווי משקל

Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer


Shahar Bialer



